802 .
x RILE « v ME 1wem 2008588 ~]
% E2008.8
BRIV (FIV b - F v MBI BXZy hRILL (Fv b 2EED)
I8 /s 5/16 3/3 /s 5/s 3/4 /3 /s 5/8 3/4
& (mm M6 M8 M10 | M12 | M16 | M20 | M22 M12 | M16 | M20
20 17 22 43 65 310 430
25 22 30 48 70 330 440
32 35 52 75 360 450
38 57 83 80 480
40 63 85 520
45 78 87 90 540 | 1,000
50 87 91 126 100 610 | 1,040
55 122 96 134 CiAS < F /)
60 100 143 296
65 109 152 270
70 117 160 283
75 173 309
80 182 309 392
90 204 342 435
F b 12 16 22 26 44 84 114
T v — 12 16 20 24 36 57 90
Ty — 28 52 70 143
ATV 12 16 22 30 44 61
Ty vy —
(A>FFARDFIL N F v MEIBERBIICEVET) (L < 1/ )
88 2% . . 643% | RILEF v
Z2FLAKRIVE « Fy ME (NEZRET)
HE2008.8 [#rEf 200848 H ~] HTE2008.8 | [#ixEffi 2008485 ~]
SUS RIL b (KIL b - Fv FRIEE) (ARILbFy bty M)
I8 /s 5/16 3/3 /s 5/s 3/4 /s HAELN o RS (HRLN | RS
E & (mm M6 M3 MI0 | MI2 | M16 | M20 | M22 (Ly ) | (M/%) [ 2y b)) | (/)
20 50 75 145 MI2X80| 155 |M20X120] 530
25 55 85 155 295 MI2X90| 165 |M20X130] 560
30 60 90 175 325 MI12X100] 175 |M20X140| 605
40 85 110 225 390 M20X150] 635
45 245 325 775 M16X100] 285 [M20X160] 740
50 295 350 660 | 1,500 M16X110] 305
55 345 375 705 | 1,615 M16X120] 325 |M22X140] 980
60 385 520 755 | 1,715 | 2,235 MI16X130] 345 [M22X150] 980
65 410 550 780 | 1,775 | 2,380 M16X140] 360 |M22X160] 980
70 585 815 | 1,450 | 2,490 M22X170] 985
75 880 | 1,525 | 2,620 M22X180| 1,615
80 1,595 | 2,700
90 2,310 QR < 1T/ fiE)
+ v b 25 50 100 140 205 400 490
T ¥y — 16 23 40 65 95 185 208
AT) v 18 28 40 58 90 184 235
Ty Yy —
(A>FHALAZXDRIVEFy MIFIRRBIICHEYET) (AT F /i)
85 4% 13A 15A 20A 25A 32A 40A 50A 65A
= 5K 160 170 180 220 270 290 320 440
el 10K 210 220 240 290 320 360 410 520
E;'?EM 80A 100A 125A 150A 200A 250A 300A 350A
Ny x> 5K 540 660 940 1,090 1,410 1,870 2,290 3,710
10K 630 790 960 1,190 1,480 2,000 2,350 3,830

229



